CLOPAY MODEL 3200 (24 GA MIN EXT SKIN)

CLOPAY MODEL 3220 (20 GA MIN EXT SKIN)

HOLMES MODEL 240/240G (24 GA MIN EXT SKIN)
A

__%é
|

18'0" HIGH

MAX.

————— A

MAX. 10'2" WIDE |
INSIDE E| FVATION

(4) #14 SHEET
METAL SCREWS

(1) INTER.
HINGE ON = e
DOORS UP TO i
9'2"W (2)
INTER. HINGES
ON DOORS UP
TO 10°2"W

LOCK LOCATION
(BOTH SIDES)

SILICONE FILLED CHANNEL SEPARATES
FRONT AND BACK SKIN OF DOOR

EXPANDED POLYSTYRENE

TO BOTH EXTERIOR AND
INTERIOR SKINS.

12 GA. GALV. STEEL
TOP ROLLER BRACKET.
EACH BRACKET ATTACHED
W/4 #14X5/8" SHEET
METAL SCREWS.

TONGUE AND GROOVE JOINTS.

14 GA. GALV. STEEL ROLLER (END)
HINGE. EACH FASTENED TO

END STILES W/(4) #14x5/8"
SHEET METAL SCREWS AND W/(4)
1/4"x3/4" SELF TAPPING SCREWS.

SECTION A—A

3" TALL x 20 GA. GALV. STEEL
U-BAR. ONE PER DOOR
SECTION, EXCEPT TWO ON
BOTTOM SECTION. ATTACHED
WITH (2) 1/4°x3/4" SELF
TAPPING SCREWS AT EACH
HINGE LOCATION.

\ 27 GA. STEEL INTERIOR SKIN WITH

GALVANIZED, BAKED—ON PRIMER
AND A BAKED—ON POLYESTER

PAINTED TOP COAT.

ALUMINUM EXTRUSION

& VINYL WEATHERSTRIP.

24 GA. MIN. STEEL EXTERIOR SKIN WITH

GALVANIZED, BAKED—ON PRIMER

AND A BAKED—ON POLYESTER PAINTED TOP COAT.

*THE SUPPORTING STRUCTURAL ELEMENTS ARE TO BE
€ QEES:’F{‘;&ED BY THE BUILDING ARCHITECT OR ENGINEER
3 OF..R D FOR THE LOADS SHOWN ON THIS DRAWING.

"y

1.95" THICK, 1# DENSITY
FOAM INSULATION LAMINATED

12 GA. GALV. STEEL BOTTOM BRACKET.
ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.

REV DATE DESCRIPTION
10| 06/2013 REMOVE GLAZING OPTION

THIS PRODUCT COMPLIES

WITH THE 2018 IBC/IRC. 11| 08/2016 REMOVE WIND SPEED TABLE.
12] 02/2022 REVISED FOR TDI

STOP MOULDING BY DOOR
INSTALLER (TO SUIT)

18 GA. MIN. GALV. STEEL END STILE
\) (END STILES HELD BY HINGE SCREWS)

LSS St S b L0 S0 ot e fr fr e fe S S,

G LS S0 bt o e f e e o e ot
PSS LSS b b f 0 0 0 o fr o f o o fo o
S LSS S S8 0 f o v o fr o o o o fo,
2t e (P LTLILTLTLILT LN}

12 GA. GALV. STEEL TRACK BRACKETS
FASTENED TO JAMB WITH

5/16"x1-5/8" LAG SCREW

(FOR STEEL JAMBS: USE CONTINUOUS
ANGLE TRACK OR REVERSE ANGLE TRACK)

2" GALV. STEEL TRACK FASTENED TO
12 GA. GALV. STEEL TRACK BRACKETS.
TRACK ATTACHED TO EACH BRACKET
WITH TWO 1/4" DIA. RIVETS

OR ONE 1/4" BOLT & NUT

14 GA. GALV. STEEL INTER. HINGE
FASTENED TO INSIDE SKIN W/(4)
EACH #14x5/8" SHEET METAL SCREWS.

14 GA. GALV. STEEL ROLLER HINGE
FASTENED TO END STILES W/(4) EACH
#14x5/8" SHEET METAL SCREWS.

SLIDE BOLT JAMB CONFIGURATION 2" 10 BALL SHORT STEM STEEL ROLLER WITH
END LOCK ENGAGES STEEL OR NYLON TIRE
STILE INTO VERTICAL PREPARATION OF JAMBS BY OTHERS,
TRACK. ONE
LOCK ON HORIZONTAL TRACK SUPPORT BY
EACH SIDE DOOR INSTALLER (TO SUIT)
OF DOOR.

INSIDE SLIDE BOLT

13 GA. GALV. STEEL FLAG BRACKET.
TR EACH FASTENED TO WOOD JAMB WITH

DOOR HEIGHT & 1o P il (3) 5/16"x1-5/8" WOOD LAG SCREW.

I
L e | o NOTE: DOUBLE TRACK LOW
10'~3” THRU 12’-0° 6 T IRACK CONFIGURATION HEADROOM, HI—-LIFT TRACK,
12-3* THRU 14’0 7 o FOLLOW-THE—ROOF TRACK,
14/-3* THRU 16'~0* 8 S AND VERTICAL LIFT TRACK
16"-3° THRU 18'-0 9 a Y ARE AVAILABLE OPTIONS. 3"

]

MAX, SECTION HEIGHT: 24" 2" GALV. STEEL TRACK, TRACK ALSO AVAILABLE.
TRACK THICKNESS: .060"

TRACK ATTACHED TO TRACK BRACKETS

WITH TWO 1/4" DIA. RIVETS.

LHR TOP BRACKET
DOUBLE HORIZONTAL
TRACK

TYP. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET.
EACH TRACK BRACKET FASTENED TO WOOD

OPENING HEIGHT

24" 0.C. JAMB WITH ONE 5/16"x1-5/8" WOOD LAG SCREW.
(TYP.) (FOR STEEL JAMBS: USE CONTINUOUS OR REVERSE
DOUBLE_TRACK 44 )
10" L Hj 2.000 PS| MIN. CONCRETE OPENINGS (2 OPTIONS):
E 1-; 1) 1/4"x1-1/2" MIN. EMBED TAPCON CONCRETE ANCHOR.
i indac START AT 7" FROM BOTTOM AND 18" O.C. (1" WASHER)
3-1/2" ) 3/8"x1-1/2" MIN. EMBED SLEEVE ANCHOR. START AT

7" FROM BOTTOM AND 21" 0.C. (WASHER INCLUDED)
STEEL OPENINGS (2 OPTIONS):

1) 1/8"x1" LONG FILLET WELD (E60XX ELECTRODE
MIN.). WELD TO BE LOCATED VERTICALLY ON
ANGLE AT 24" CENTER AND TACK WELD TOE OF
ANGLE AT SAME SPACING.

2) 5/16"x1" SELF TAPPING SCREW.
START AT 7" FROM BOTTOM AND 24" 0.C.

, WOOD FRAME OPENINGS (1 OPTION); Y
1) 3/8" X 1-1/2" MIN. EMBED LAG SCREW W/ 1—-1/8
DIA. WASHER. MIN. 24" O.C.

DESIGN ENGINEER: MARK WESTERFIELD, P.E.

FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513
DESIGN LOADS: +37.0 PSF & —40.0 PSF
TEST LOADS: +55.5 PSF & —60.0 PSF

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
REGIONS (REF. CHAPTER 16 FBC/IBC)

. A ° - mg"[‘:‘l‘cgmﬁﬁs”fgmcfl_ﬁg”jb WINDLOAD RATING | MAX DDOR SIZE:
- - .‘;'_.'-' » - - "y (PN
(4) 1/4" DIA. SELF - W 2 clo a CLOPAY CORPORATION — 102°W x 18'0°H
' 2 ; 8585 DUKE BLVD. 4/18/96 DESCRIPTION
TAPPING SCREWS WE RFELD
T i/ S MASON, OH 45040 DRAVN BY COMM 2" EPS: +37/-40 PSF DESIGN
14 GA END HINGE 14 GA_INTERMEDIATE HINGE b e CORPORATION | (513) 770 - 4800 S RAVING NOMBER
fo MR 7, ' .* Clopay Corporation All Rights Reserved, B ‘l 01 6'] 7




